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Recitation Instructor:

Recitation Time:

Homework #3 is due at 5:00 PM on Wednesday, Feb. 1, in your recitation’s homework box
near Cardwell 120. This is due on Wednesday so you work the problems before Exam 1!
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1. The function y = n(x) is graphed above in solid bold. There is also a dotted

line graphed. Find the following two values. Beeder (D 6 fro denmhine L fondm
noo ar L=<l o
A n(-1)= -6 B. n/(—1) = eibee dabumcdion _ Shpe 4 fogor
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3. Let w(z) = 5z* + 3z + 3. 1839rS

—_
A. Using the limit definition of the derivative, find w'(%).
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B. Find the equation for the tangent line to y = w(x) at x = 2.
W, = $/(3)=33 (3 =57
(y-v7) =33 (x-3)

4. Using the limit definition of the derivative, find f’(3) given that f(z) = vz + 2.

):)(}1')': I;E— Col’ x=5.

/ \t Feeid)-4D i Jate I8
£103) e e A N
kt‘vm @E—
T b
e 5 TS +1%)
o T (S ag)

= C‘?H\) 2 e .
o ) K (T3 5)

f,[fl/\" _\/‘

hoo  Jsm vJG

\

—

T 2054




v ( gl
o j
5. When throwing a softball directly upward from a height of 5 ft with an initial

velocity of 50 ft/sec, the height of the softball after t seconds is given by
h(t) = —16t2 4+ 50t + 5 (until the ball hits the ground).

A. Using the limit definition of the derivative, find A'(1).
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B. Using your answer in Part A, is the ball going upward or going downward
one second after being thrown?




